ALL KERALA BHAVAN’S SCHOLARSHIP EXAMINATION NOVEMBER 2023

Class: IV Marks:100
pate: 28.11.2023 Time: 1% hrs
: GENERAL INSTRUCTIONS:

Read the instructions carefully before answering

1.
2.

Please fill up your Roll No. and class in the box provided on the OMR sheet.

This question booklet contains 50 questions and 5 Tie Breaker questions. All questions

including ‘Tie Breaker Questions’ are mandatory. Tie Breaker questions will be
evaluated only in case of a Tie.

Each question carries 2 marks.

4. Each question has 4 answer choices a, b, ¢, d.

For each question, select the best/correct option and darken the bubble completely
against the corresponding question in the OMR sheet provided.

Use a blue/black ball point pen to darken the bubble.
Darken only one bubble against each question.

There will be no negative marking.

Choose the correct answer from the options given.

1.

Write the full form of won’t

a. would not b. will not c. want not d. wont not.
The plural form of ‘story’
a. storys b. storyses c. storyes d. stories
We played very well, we lost that match.
a. and b. but c. what d. because
The word tiniest means
a. big b. small c. very small d. large
Son and sun are
a. homophones. b. opposites. C. synonyms d. comparative word
Do you the secret? ;
a. no b. know c. knows - d. knew
Everybody pleased to see the new car.
a. were b. has c. was d. are
- We should not" our temper in certain cases.
a. lost b. loss c. loose d. lose
What is the abstract noun form of the word “happy”?
a. Happily b. Happiness c. Happiest d. Happier
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Identify the uncountable noun:

a. Chair b. Love c. Books d. Money

Fill in the blank with the correct reflexive pronoun: “She brushed hair
before the party.”

a. her b. himself c. themselves d. her own

A cube has 6 faces. Two cubes are joined face to face to form a solid shape. How
many faces will this solid have?

a. 6 b. 10 e 2 d. 8
1 whole = — quarters
a.l b3 c. 4 d. %
Sumanth saves Rs.250 evei‘y month. How much money will he save in one year?
a. 2600 b. 3000 c. 2500 d. 3500
Half of half is called
a. Three fourth _b. Quarter c. Half d. Two third
Decode this secret message
10 200 118 G
a. Walk b. Fish c. Jump d. Flash
The cost of one dozen banana is 72 rupees. How much is the cost of a banana?
a. 8 b. 6 c. 4 d=S
The next number in the pattern 1, 4,9, 16, _ is
a. 20 1), 25 856 : drel o
The LCM of 20, 25 is -
a. 500 b. 50 c. 100 d. 200

From which of the following numbers must 4,409 be subtracted, so that the difference
is 72,352?

a. 66,961 b. 67,941 c. 78,943 d. 76,761
The product of two numbers is 25064.If one of the numbers is 52, Find the other
a. 472 b. 480 c. 482 d. 427

The restaurant car park has 35 parking spots arranged in 7 Rows. How many parking
spots in each row.

a.3 b. 4 ciS d. 8

Cutting of trees from the forest is known as

a. Reforestation b. Deforestation c. Afforestation d. None of the above
Madhubani is a very old form of-

a. Dance b. Song c. Folk art d. Game
Florist means

a. Vegetable seller b. Flower seller c. Cloth seller ~  d. Fruit seller
Which is the best season to keep honeybees?

a. Autumn b. Spring c. Rainy d. Summer
What are the external teeth of an elephant called?

a. Tusk b. Molar c. Premolar d. Trunk
Which of the following vegetable is a modified root?

a. Tomato b. Potato c. Sweet potato d. Ginger
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Which of the following tool is used to cut the dried leaves of onions?

a. Khunti b. Spade. c. Illige d. Kurige
Which of the following is a water borne disease ?

a. Cholera b. Tuberculosis c. Malaria d. Chickenpox
Polar bears have a thick layer of fat under their skin, called

a. Fat b. Blubber c. Fatty tissue d. Cholesterol

Which longitude divides the Earth into Eastern Hemisphere and Western
Hemisphere?

a. The Prime Meridian b. The Iriternational Date Line

c. Equator d. North Pole

Neetu visited a botanical garden during her vacation. There she saw a plant with red
colour leaves. Seeing them she wondered how would red coloured plant carry out
photosynthesis as she has studied that green leaves containing chlorophyll help in
photosynthesis. She has asked her doubt to her mother and her mother explained as
a. They do not carry out photosynthesis

b. They are parasites

c. They have hidden chlorophyll which carry out photosynthesis.
d. None of the above.

Manu while playing football from the playground fell down and got his hand fractured.
He was taken to the hospital and the doctor put the plaster in his hand. Then doctor
advised him, for healthy bone he has to eat food rich in

a. Calcium b. Iron c . Water d. Roughage
What is the other name of Black pepper?

a. Dalchini b. Kalimirch c. Hing d. Haldi
The number of days in a leap year

a. 365 b. 360 c. 366 d. 364

Which company created the ‘Minecraft’ video game?

a. Electronic Arts b. Mojang Studios c. Rockstar Games d. Ubisoft
What does IPL stand for ?

a. India Pakistan League b. Indian Premier League

c. Indo- Persia league d. International Players League
International day of Non-Violence is celebrated on which day?

a. 274 October b. 5%October c. 9% October d. 24%®October

Mary is 16 years old. She is 4 times older than her brother. How old will Mary be
when she is twice his age?
a. That’s impossible b. 20 c. 24 dR28

Kailas walks 3 km to East, turns South and walks 4 km. Again turns west and
walks 6 km. How far is he from the starting point?

a. 5 km b. 6 km c. 7 km d. 3 km
Sunday, Monday, Wednesday, Saturday, Wednesday. What comes next?
a. Sunday b. Wednesday c. Monday d. Saturday

Nikita ranks eighteenth in a class of 27 students. What is her rank from the last?
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A group of 748 students go on a trek, out of which 224 are girls. How many are boys?
a. 530 ' b. 424 c. 524 d. 570
The chairman entered the Assembly Hall at 10 min. before 12.30 hours to conduct
the interview. The chairman was 20 min. earlier than the managing director. The
chairman was 30 min. late as per the time fixed. What was the time fixed for interview?
a=12:50 b. 12:10 c. 12:40 d. 12:00
People buy me to eat but never eat me. What am I?
a. Glass b. Vegetable c. Plate d. Rice
You are in a shop. The sales person is persuading you to buy a book that you do not
need. What will you do?
a. Ignore him : b. Politely say that you don’t need it
c. Shout at him for disturbing you. d. Buy the book
Which of the following is not safe?
a. Sam does not open the door to strangers
b. Rohan always holds adult hand while crossing the road
c. Siya picks any toy she finds on the road.
d. Riya takes medicine after asking an adult
If shape N and S are removed from the series given below, then _is in the middle
of series?
QAL OQOL
a. M o) 12/ cH@y d T
How many times does the digit 3 occur in writing 3001 to 3030?
2, S ' b. 33 : c. 34 d. 35

* * * * *

TIE BREAKER

Arrange the following in logical order:

1. Word 2. Paragraph 3. Sentence 4. Letters 5. Phrase

a. 4,1,5,2,3 b. 4,1,3,5,2 c. 4,2,5,1,3 d. 4,1,5,3,2
The only bird which can tie a knot
a. Tailor Bird b. Cow Bird c. Weaver bird d. Night jar

A man spend 3/4 of his salary and still has ¥ 2000 with him. How much money had
he at first?

a. 8000 b. 2000 c.10000 d. 4000
Roman numeral for 40
a. XXXX b. XXXVV ©h 2 db; . d. XVVXX

In a certain code TOM is written as 523, MOP is written as 321, then what will be
the code for TOP?

a. 125 b 5211 c. 1223 d. 325
* R * . * *
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